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g2 3}EF Qs (%91 : TEU)

case \.i 1 2 3 4 315k
1 3,000 6,000 2,500 3,500 15,000
2 6,000 10,000 5,000 5,000 26,000

3 6,000 10,000 5,000 10,000 31,000
4 6,000 20,000 5000 10,000 23,000
5 6,000 20,000 5,000 20,000 51,000

6 10,000 20,000 5,000 20,000 55,000

F2E T FI(tew) 7 +9 45

(245 $)

f

1 10,000 11,000 12,000 15,000

2 8,000 9,000 10,000 10,000

3 6,000 8000 8000 9,000

22 4] . Minimize 10,000x;, + 11,000x,, + 12,000x,5 + 15,000,
4+ 8,000xa+ 9,000+ 10,000x:+ 10,000z,
+  6,000xut 8,000xxt+ 8,000%:5+ 9,000xs

+ 40P, + 50P, + 40P, . 70P,

_.8._



A oA 1/3%u+1/2%0+ 1/2%3+ 3 < 5
1/4xa+1/3%+ 1/3%+ 1/2x5 < 8
1/5%0+ 1/5%0+ 1/4%5+ 1/2%s < 10
1,500xu+ 850%;+ 500xs + Py =3,000
1,500x::+ 850%»+ 500xs+P,=6,000

1,500x15+ 850x2+ 500xs:+ Ps=2,500
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B8 | MK | EB/%E | 3000 6000 2500 3500
1 1,500 5 2 4 2 1 0.34
MEYE 850 8 - - - 2 7.00
15,000TEU 500 10 - - - 1 9.50
2 e | EBU/E®WE | 6000 10,000 5000 5000
BEYE . 1,500 5 4 4 3 - 0.18
26,000TEU 850 8 - 5 - 6 3.35
500 10 - — 1 — 9.75
3 M | SB/B%E | 6000 10,000 5000 10,000
BRnE 1,500 5 4 4 3 - 0.18
31,000TEU 850 8 - 5 - 12 0.35
500 10 - - 1 - 9.75
4 MAaEE | EB/EWE | 6000 20,000 5000 10,000
ey E ! 1,500 5 4 4 3 - 0.18
23,000TEU 850 8 - 16 - 5 0.22
500 10 - 1 1 12 3.35
5 fefRsE | EB/EWE | 6000 20,000 5000 20,000
MEYE 1,500 5 4 = 3 2 0.18
51,000TEU 850 8 - - - 16 0.00
500 10 - 40 — 4 0.00
R R 500 1400 | |
6 AR | E8/B%WE | 10,000 20,000 5000 20,000
wmEmE 1,500 5 7 - 3 1 0.19
55,000TEU 850 8 - - - 16 0.00
I WO T P T
509 ¥ 500 2,900
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